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cos a+ cos b = 2eos((a + B)12) cos((a — P)2)
cos @ - cos p=2sin((a+ B)/2) sin((p - a)12)
sin a + sin = 2sin((a + B)/2) cos((a - P)/2)
sina - sin B = 2sin((a - P)/2) cos((a + p)12),
(g + tg = sin(a + p)(cos a cos )
tgu - tg = sin(a - B)/(cos a cos f)
0« ctg = sin(p + a)/(sin asin )
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'z“;':;:tﬂ izcwm +B)12) cos((a - py2)
; B =2sin((a + B)2) sin((p - a)2)
si a+ sin f=2sin((a + 72) cos((a- py2)
sin o~ sin f = 2sin((a - B)/2) cos((a+ )2),

tg a +tg f = sinfa + B)/(cos a cos f)

tg a - tg B = sin(a - f)/(cos a cos f)

ctg @ + ctg b= sin(p + a)(sin asin f)
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